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QUESTION 1

What are two requirements of a server cluster with regards to storage technologies? (Choose two.)
A. a file locking mechanism

B. a back-end storage database

C. a switch fabric

D. shared storage

Correct Answer: CD

QUESTION 2

What are two characteristics of Challenge-Handshake Authentication Protocol (CHAP)? (Choose two.)
A. CHAP uses a parity algorithm to jumble the credentials for security.

B. CHAP uses a Point-to-Point Protocol (PPP) method.

C. CHAP uses a hash mechanism so the clear text authentication piece is never sent.

D. CHAP is required for iSCSI initiator authentication

Correct Answer: BD

QUESTION 3

Which technology uses lossless Ethernet?
A.FC

B. FcoE

C. FCIP

D.iFCP

Correct Answer: B

QUESTION 4

You are designing a synchronous remote mirror solution. Which two factors regarding maximum distance must be
considered in this scenario? (Choose two)

A. the customer\\'s application tolerance for latency
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B. the customer\\'s RTO requirement
C. the availability of high-speed communication links
D. the amount of storage required by the customer\\'s application

Correct Answer: BD

QUESTION 5

Which two technologies are part of the Data Center Bridging (DCB) standard? (Choose two.)
A. Enhanced Transmission Selection (ETS)

B. Fibre Channel over IP (FCIP)

C. Priority-based Flow Control (PFC)

D. Internet key Exchange (IKE)

Correct Answer: AC
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